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MATHEMATICS
Time: 2 hours
READ THESE INSTRUCTIONS CAREFULLY
You have been given this question booklet and a separate answer sheet. Che question honklet contains 30 guestions,
Do any necessary rough work in this booldet.
When you have chosen your answer, mark it on the ANSWER SHEET, not in this question booklet.
HOW TO USE THE ANSWER SHEET

Lse only an ordinary pencil.

Make sure that you have written on the apswer sheet;
YOUR INDEX NUMBER
YOUR NAME
NAME OF YOUR SCHOOL

By drawing a dark line inside the correct numbered boxes mark your full Indes Number (i.c. Scheol Caode Number
and the three-Ngure Candidate’s Mumber) in the grid near the top of the answer sheet,

Do not make any marks oulside the boxes.
Keep the sheet as clean as possible and do noi fold it

For each of the questions 1-50 four answers are given The answers are lettercd A B0 O and D bn eachcase only
ONE of the four answers is correct. Choose the correcl answer,

O the answer sheet the correct answer i3 to be shown by drawing a dark line inside the box in which the letler you
liave chosen is written.

Example
In the Question Booklet:
44, What number must he multiplied by G-06 1o ger &7 .
A 01
B 1
. i
I 100

The corvect answer is D (100),

O the answer sheet:

Hln' 1By G i mlﬁ.l B E-.ﬂ-l By Gy m Al B AG n m AL B C0 hiEw

in the set of hoxes numbered 44, the hox with letter T printed in it is marked.
Your dark line MUST be within the box

For zach question ONLY ONE box is to be marked i cach ser of four boxes.

This Question Paper consists of 14 printed pages and 2 blang pages.



1.

[

What is 73121025 written in words?
A. Seven million three hundred  and
thousand one hundred and twenty five.

twelve

B, Seventy three million one hundred and twenty
one thousand and bwenty five,

. Seven hundred and thirty one million two
hundred and ten thousand and twenty five,

I3, Seventy three million  twelve thousand one
hundred and twenty five,

What is [-28978 correct to three decimal places?

A 2R

B. 1-289

LS i

Do 1-2580

Maosi sold milk from 7th Januvary to Tth March
2006, For how many days altogether did he sell the
milk?

A, 58
B, 39
C. 60
Iy 6l

In the figure below lines PO, RE» and 50 have been
consiructed to meet at (.

I.'r

—8

wleasure angle SQR.

What is the size of angle SQR?

A 63
B. 1147
c.nr
D. 129"

39

10.

Il.

What is the sum of the total values of the digits in
the hundreds and ten thousands positions i the
number 6933527

AL 83000
B. 90 500
.10 100
D, 9500

How many vertices does a triangular prism have?
A2 ' :

B. 5
C. 6
Doy

Sotsi borrowed sh 20000 from a money lender at a
simple inferest rate of 5% per month. How much did
he pay back altogether at the end of one year?

A sl 32000
B, sh 21000
. sh 20 060
13, sh 12000

The heights in centimetres of 10 pupils are given
helow:

169, 173, 158, 170, 139, 171, 163, 159, 180, 167

What is the mean height of the pupils?

A 139%9cm
I 1669 cm
i 168 cin
D1 669 cm

What is the next pumber in the pattern:

122,24, 48, ool

A Bl
B2
o B
D 946

The decimals (-09402, 009042, 009024, 009204 are
to be written from the largest to the smallest. Which
one of the following is the correct order?

0-00204, 000402, 0-00042, 0-09024
O-00402, (09042, (009204, 0-09024
(09402, 009204, 109042, 0-05024
O-09024, 009042, (09204, 009402

A rectangular plot of fand measures 40m by 30 m.
There i3 a wall on one of the longer sides. Four
strands of wire are o be used to feoce the three
remaining sides of the plot. What length of wire is
reguired?

4 8500 m
560 m
Hm

A
B.
i
[ LD m




12, In the year 2002, the number of pupils in a school
was 800, In 2003 the number of pupils increased by
40%. How many pupils were thers in 20037

A, 320
B, 480
C.  B4D
D. 1120

13.

A pupil intends Lo add the {ractions % %
Which one of the following numbers should she
choose as the least common denominator?

A, 56

B. 43

. 168

. 336

3
and T

14,

Mukami had 135 two hundred shillings notes which
she changed as follows:

s 2F 000 fare one thowsand shillings notes
sl FO00 dnto five hundred shillings notes
sl 2000 inta ane lundred shillings notes and

the remaining amount of money into fifty shillings
Fgies,

How many notes did she get altogether?
A 67 :
B. 54

C. 47

D20

A distance of 5 kilometres is represented on a map
by a length of 4 centimetres, What is the scale used?
Al 1:125

B, 1:1 250

o112 500

D, 1125000

16. What is the value of 7(82 - 72} + 63 = 7
A. 16

B. 23

C. 24

o104

17. the

What s the value of x in equation

Ix+4=13-x?
A. 68

36

7%

D4

0w

()

18.

19,

20.

21.

22,

23.

Mula sold an item for sh 9 900 and made a loss of
10%. What was the cost price of the item?

A, sh L1000

B. sh 9910

. sh 9000

. sh &910

Twenty litres of milk was given to a class of 50
pupils to share equally. How many decilitres of milk
did each pupil get?

A 04
B. 4
C. 40
[, Aiu

What is the value of 0-6 - 0-4 > 0.23 - 0-017

A, D036
B. 0044
C. 0498
[ 0-518

A certain guadrilateral has the following properties:

Has nwo sets of parallel sides
Has all sides equal.
Diagonals bisect each ather
Some angles are equal

Which quadrilateral has the above properties?
A, Parallelogram

B, Rhombus

. Square

D Trapezium

An aeroplane left town F at 22 30 k on Monday, It

took Ef:' howrs to reach town K. When did it reach

town K7

A, Tuesday 7.15 a.m.
B Tuoesday 7.15 p.m.
. Monday 7.13 a.m.
. Monday 7.15 p.m.

What is the square root of 005767
Al 00024

B 0024

C. 024

2. *4

What is the volume, in cm?, of a 10
diameter is [4 cm and height 10 em? [Take = =5

c:('linder whose
A. 6160 '

B, 1340
oo T4
Do 440




25. Mbogo and Kihara shared some money such that

26.

27.

28.

Mbogo got + of the money shared out. What was

the ratio of Mbogo's share to that of Kihara?
AL 43

B 301
O 34
[ 0:3

Onyango paid sh 950 for an flem aflter getting a
disconnt of sh 50, What- percentage discount did he

wet?

AL S
BoOSIU
. 5Ly
3. 930,

The ligure below iz part ol 4 rhombus EFGH.
Complete the rhombus.

E

=G

What is the length of half the longer dingonal?
A Jem

B, dem
O hem
D, Bem

Samira bought the following Ttems:

Five holf-liree paclets of wilk ab sh 30
Twvn crates of soda {@ sh 320

Tweney five foaves of bread @ sh 23
A bottle of water for sk 23

iIf she bad sh2000, how much money ‘did she
remain with?

A sh 1602
B, sh 1390
. sh 635
[y, sh 610

&1

29.

The bar graph, below shows the number of
kilograms. of sugar consumed by a school in five
days.

SUGAR CONSUMPTION
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In which pair of consecutive days was the total
consumption the highest?

A, Mon and Tue

B. Tue and Wed

C. Wed and Thur

3. Thur and Fri

A youth group organised a film show to raise funds.
Two hundred and eighty men attended the [film
show, The number of women who attended was half
the number of men, while the number of youths was
three tumes the number of hoth men and women.
The charges were sh 30 per adult and sh 20 per
youth. How much money was raised?

sh 46 200

sh 37 800

sh 23 200

sh 21 000

vowe




31.

32.

In the tigure below, JK =JL =25cm and KM = "'ufl-H
The per imeter of L] mng]e JRL'="98 e,

M L

What is the length of tne ]'rer;:mndjcuhj line JM in
centimetres?

A 25
B. 24
C. 12
B 7

Which one of the following expressions is equal to

H2a - 3b)+ Sia + 5b) ;
3ida - 3b) + Ya +4h)

Faa +10b

15a + 3b

5+ 25h

i +.l2€

F5a + 40y

15a + 21k

]5& + '?h

E"_ld + b

A

The following table shows the commission charged
when one buys postal orders.

VALUE OF ORDER COMMISSION
i{sh) {sh) |
10000 1 1=
200300 12400
300-00 2300
400-00 39-00

Wangeci wanted to send sh 700 by postal orders.
Which one of the postal order combinations given
below should she buv in order to pay the least
commission?

A sh 400 + sho 300

B sh 400 + sh 100 4+ sh 100+ sh 100

C. sh.300 + sh 300+ sh 100

D sh 200 + sh 200+ sh 2000+ 5h 100

34.

35.

37.

38.

An open cylindrical tin of dismeter, [4 em and

height 21 cm was painted on_ihe outside. What was
the area painted? f’!’ akemw ="
A, 334 om? tiy
B. 2464 cm?
C. 1232 ew?
[ 1078 cm?
1 r’+ 1
What is the value of P _F92) sven that r =6,
; r+4q
p=r+2andgq=p- 3
A, 56
B. 385
C. 305
D, 202
Asha and Musa are salespersons employed by two

different companies. Asha's cumpan}' pays her a
monthly salary of sh 1 500 and a 2% commission
on goods she sells above sh 10000,

Musa's company only gives him a 6% commission
on all goods he sells.

On a certain month Asha and Musa each sold goods
worth sh 40 000, How much more money was Musa
piid than Asha?

AL sh 2 400
B. sh2230
C. sh 900
. osh 150
Wiiat is the value of 14+ 7 x5+ 37
59 '
A Kl
B. 34
s -
D 73

A pick-up whose mass 13 one tonne when empty was
loaded with #I bags of sugar each weighing 50 kg
and three bags of maize cach weighing 63 kg

What was the total mass, in tonnes. of the loaded

prck-up?
A 3195
B 3063
.30

D, 2195



39.

40.

41.

In a refay race Obong'o ran 600 m, which is % of the
race. in 3 minutes. Kyalo took 5 minutes to
complete the rest of the race.

What was the average speed for the whole race in
m/s?

A3
B. 3%
c. 3%
D. 34

Forty two men were hired to repair a stretch of road
in 14 days. How many more men should be hired if
the work was to be linished in 12 days?

A 6
B, 7
C. 49
D. 91

The number of women passengers in a bus was W,
The number of children in the bus was three times
that of men passengers but was 6 more than that of
Wormen.

Which one of the following eapressions shows the
total number of passengers in the bus?

Al 21W 8
B. 23 W-8
C. 2iwasn2
D. 5W+24

Working Space




42. 1n the figure below lines AB, AC, BC and BD are
equal. BDF and CDE are straight lines and angle
ABD is a right anple.

A

E

What is the size of angle EDF?
A 3P
B, 45
C. 60°
D. 750

43. The graph below shows Muli's journey from town X
to town Y.

Working Space

Distance
in
kilometres

1004t

Town X 0

1.30 3.30 9.30 10.30
Time
What was the average speed, in kmv/h; for the whole
Jjourney?
A 721
70
645

~ &

)
1“:+

04



44!

45.

On line YZ given below, complete the construction
of the isosceles triangle XYZ where XY =X7 =

Bem. Construct a circle centre O which touches the

sides of the triangie.

What is the radius of the circle?

A, 2om

B. 36cm
0 4-3am
D, 54 cm

The hire purchase price for a wall cabinet is 25%
more than the cash price. Kalulu bought the cabinet
on hire purchase terms by paying a deposit of
sh 13 200 and the remaining amount in 12 equal
monthly instalments.

If the cash price was sh 24 000, how much was each
monthly instalment?

Ao sho 400
B. sh 900
C. sh 1400
B. sh 2 500

A flower garden is made up of a semicircle of
diameter 14 m, a rectangle measuring 20 metres long
and 14 metres wide and a guarter of a eicle of
radius 14 m.

What is the area of the flower garden in m®?

(Take = Q
A 742

B. 665

€. 511

p. 395l

Fy ™
5

47.

48.

49.

Kamau, Wasike and Omollo sell newspapers. One
day Omollo sold 20 newspapers more than Wasike
who sold 10} newspapers more than Kamau,

The tolal number of newspapers they sold that day
was 1401,

If Wasike sold vy newspapers, which one of the
following equations can be used to find the number
of newspapers sold by Wasike?

A Jy+ 10=140

B. 3y +30=140
Co 3y +20=140
D, y+30=140

Moraa shared money among her four children,
Muta, Somo, Nduta and Aroya. Muta got 5 of the

money while Somo got £ of the remainder, The rest
was shared equally between Nduta and Aroya.

What fraction of the money did Aroya get?
A

B
o
D

f— e =
L i1 S

A tailor had 17-5m of cloth material. From this
material she made 2 dresses each requiring 375 m of
material, and 3 jackets each requiring 24m of
material.

What length of material remained?

A, T4m
B 28m
. 1135 m
D, 14-7Tm




50. An mcomplete patiern 15 shown below, Working Space

N :

N
S
AV

W1l 1]
{ ~ R

Which orie of the shapes below will camplete the

pattern above?
Al B. L D,

I 1
| : el I8
7 ot i

Lild



